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Question I. Answer all the following questions.

1. Derive the IS curve and the LM curve in the following steps.

(1) Derive the IS curve by drawing the Keynesian Cross and the

Investment Function.

(Summary)

@

)

®
@

An increase in the interest rate from r1 to r» reduced planned
investment from I(r1) to I(rv).

This decrease in investment shifts the planned expenditure function
downward.

This shift reduces income (= actual expenditure) from Y to Ya.

The IS curve summarizes the relationship between O and ®.

(The list numbers correspond to the numbers in the figure.)
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(2) Derive the LM curve by drawing the market for real money balance,
1.e., the supply curve and the demand curve for real money.
(Summary)
(D An increase in income from Yi to Y raises the demand for money.
@ This increase in income shifts the money demand function leftward.
(@ This shift raises the interest rate from r to .

@ The LM curve summarizes the relationship between (D and ®.
(The list numbers correspond to the numbers in the figure.)
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2. Explain why an expansionary fiscal policy causes the fall in net exports

under floating exchange rates in the Mundell-Fleming model.
(Summary)

The expansionary fiscal policy increases planned expenditure, thus, the
demand for money. However, as soon as the interest rate starts to rise
above the world interest rate, capital flows in from abroad. Because foreign
investors need to buy the domestic currency to invest domestic economy,
the capital inflow increases the demand for the domestic currency and its
value. The appreciation of the domestic currency makes domestic goods

expensive relative to foreign goods, reducing net exports.



Question II. Solve all the problems below. You must show your work to
receive credits.
1. Suppose that the market for whiskey can be described by the following
equations:

Demand: P =100 -Q

Supply: P=Q
(1) Draw demand and supply into the diagram below, and obtain the

equilibrium price.

P=Q=100-Q = Q* = 100/2 = 50 = P*
(2) Suppose a specific whiskey sales tax of $25 is imposed.
1) Illustrate its impact in the diagram above. S
2) Calculate its impact on the equilibrium price and quantity.
P=25+Q=100-Q = QS = (100 — 25)/2 = 37.5, PS = 25 + 37.5 =
62.5

3)




Conduct welfare analysis.
Welfare without tax is W* = (100 x 50)/2 = 2500. Subtracting the
deadweight loss, WS= W* - 25 x (50 — 37.5) = 2187.5
(2) Now, suppose an ad valorem whiskey sales tax of 50% is imposed,
instead of the specific tax. Compare its impacts: namely,
1) Illustrate its impact in the diagram on the previous page. S°
2) Calculate its impact on prices and quantities.
P=(1+05Q=100-Q= QV=100/2.5= 40, PV = 1.5 x 40 = 60
(producer price is 40)
3) Conduct welfare analysis.
WV=W* - 20 x (50 — 40) = 2300
(3) Under which tax regime does the government collect higher tax
revenues?
TS=25x%x37.5=937.5
TV=20 x40 =800
Tax revenue is higher under the specific tax.
2. Suppose there are two goods apples (A) and blueberries (B). Two
consumers, #1 and #2, have the following preferences:
U1 = min{2A, 3B}
Uz =1n(A2B3)
Furthermore, they have initial endowments of {w14, w1B} = 150, 50} and (w24,
weB} = {70, 30}. Assume that transaction costs are zero, and two consumers
are allowed to trade any amount of A and B. What is the equilibrium price
ratio in this exchange economy? Show your work.
Since Consumer #1 has Leontief-type preferences, consumption
occurs only on the dotted line, implying the ratio of consumption
1s A:B = 3:2. The equilibrium price ratio is determined by the
MRS of Consumer #2. Using monotonic transformation of U’y =
A2B3, we have
MRS; = (0U’2/0A)/(6U/6B) = [2(U’2)/Al/ [3(U’s)/B] = 2B/3A. Since
consumption takes place with the fixed ratio, substituting A = 2
and B = 3, MRSz 1s 1 on the dotted line. Hence, the price ratio is
1.
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Question I.

Land rent, especially differential land rent, is one of the most
fundamental themes in Political Economy. The question asks about the
basic understanding of the essence and mechanism of differential rent and
its economic implication for capitalist market economy.

The explanation of differential rent should include what differential rent
1s and why it arises in capitalist market economy. It requires the correct
understanding on how super-profit arising from naturally given fertility

and that arising from adoption of new techniques are differently dealt with.
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Question II. This question examines applicant’s logical skills required in
the Political Economy, in which three functions of money (the measure of
value, the means of circulation and money as money) are essential for
understanding money, and are developed from the basic to the high-order
form.

As different views of the development are held in detail, it is specified in

the question sentence that applicant’s logical skills are only evaluated.
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Question I

This 1s a question concerning basic knowledge on the history of economic
thought. David Ricardo, a representative classical economist, advocated
economic liberalism as well as developed abstract-deductive economic
theory. His economic doctrines had great influence on later process of
economics. Various modes of understanding Ricardo certainly not only
mean interpretation of the economist, but also control ways of appreciating
the history of economic thought as a whole. He assumed “strong cases”
meaning idealized economic situations without disturbing influence, and
provided a method to infer causal relations among economic phenomena.
His theories of value, distribution, accumulation and the others are based
on this method. His liberalistic idea is realized, for example, in trade,
currency and poor relief policies. This question asks whether examinees
understand characteristics of the distinguished economist in the history of

economic thought.

Question I1

This question asks one of the basic knowledge on history of economic
thought. Institutional economics has developed in various ways in 20th
century and it is not easy to see its whole argument. However, Veblen and
Galbraith are the two gigantic figures in this field, and both of them had
influenced very much on our way of thinking. Especially, it 1s worthwhile to
know how Galbraith discusses social and economic problems in post-war
period in United States since this country experienced the most advanced
and the most affluent capitalism at that time. Such concepts as
“dependence effect” and “techno-structure” including the function of
education system are important to understand in order to analyze our

contemporary society.
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This question asks about the difference between return on investment (ROI) and

residual income (RI). Description shall be made, focusing on the following points.

* Return on investment(ROI)
* ROI is basically an income divided by an investment.
» Because ROI is a ratio, it can be compared with other opportunities (eg. division)
despite the difference of the scale.
- Managers can analyze deeply by decomposing the ROI into two or more ratios (eg.
profit margin ratio, asset turnover).
- Managers tend to increase ROI by reducing the investment (denominator). To avoid

this trend, RI has been the effective measure.

* Residual income(RI)
* RI = income — (required rate of return X investment)
- RI is an absolute amount of income.
* RI has one advantage that it is not a ratio. Managers can invest only in projects that

increase RI.
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(P1) min x, —2x, —7x,
subject to :
3x, +x, +3x; + x, =30
X, —x, —4x, -x;=-10

Xy5Xyy X35 Xy, X5 20

WIHASEAT P RE RS & (X, x,, X5, X, %) = (0,0,0,0,30,10) & L CTHREEZED.

z = X, —2x, = Tx,
x, =30-3x, —x, - 3x,

X =10+x, —x, -4 x,
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z =—22+%x4—%x2+§x5
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min x, —2x, —7x,
subject to :
3x, +x, +3x,<30
X, —x, —4x, <10

X, —x, —4x, 2-10



min y

subject to :
3x, +x, +3x;,<30
X, —x, —4x; 2-10
X, —=2x,=Tx; <y

X, —=2x,=Tx;=2-y

(E) py 138 L <EALTZEE.



1. After introducing two slack variables *4>Xs, transform Problem (P1) into the

following equivalent standard form (P1”).

(P1'") min x, —2x, — 7x,

subject to :
3x, +x, +3x; + x, =30
X, —x, —4x, - x5 =-10

X5 Xy, X5, X,, X5 20

Construct a dictionary with a basic feasible solution (x,,x,, x;,x,,x;) =(0,0,0,0,30,10).

z = X, —2x, = Tx,
x, =30-3x, —x, —3x,

xs=104+x, —x, -4 x,

The current solution is not optimal, since the first line of the dictionary corresponding

to the objective function has a nonbasic variable with a negative coefficient. By
increasing x, (a nonbasic variable with the minimum coefficient) from 0 to >

rewrite the dictionary.

35 3 1 7
z ==X, —— X, +— X,
2 4 4 4
45 15 1 3
S TAR TR
5 1 1 1
3= 5+le 4x2_4x5

The current solution is not optimal, since the first line of the dictionary corresponding
to the objective function has a nonbasic variable with a negative coefficient. By
increasing x, (a nonbasic variable with the minimum coefficient) from 0 to 6,

rewrite the dictionary.



z =—22+lx4—%x2+§x5
X, = —ix —Lx lx
! 157 1572 577
Xy = —Lx —ix —lx
: 157 157 577

The current solution is not optimal, since the first line of the dictionary corresponding
to the objective function has a nonbasic variable with a negative coefficient. By

increasing x, (a nonbasic variable with the minimum coefficient) from 0 to 15,

rewrite the dictionary.

z =—25+lx4+3x3+1x5
4 4 4
1 1
X, = S—Zx4+zx3+zx5
1 15 3
X, = 15—2x4—?x3—2x5

The current solution is optimal, since the first line of the dictionary corresponding to
the objective function has no nonbasic variable with a negative coefficient. An optimal

solutionis (x,,x,,x;) =(5,15,0), and the optimal value is —25.

min x, —2x, —7x,
subject to :
3x, +x, +3x,<30
X, —x, —4x, <10

X, —x, —4x, 2-10



min y

subject to :
3x, +x, +3x;<30
X, —x, —4x; 2-10
X, —=2x,=Tx; <y

X, —=2x,=Tx;=2-y
(Note) y is a variable newly introduced.
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